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1) A grandfather clock chimes once at 1 o’clock, twice at 2 o’clock, and so on.  In addition it chimes once at the quarter hour, twice at the half hour, and three times at the third – quarter hour.  Write an arithmetic sequence to determine how many times the clock will chime between 12:01 am and 12:01 pm.

2) There is a set of steps leading up to a ship’s deck. The third step is 52 inches above the water. The fifth step is 63 inches above the water.  Assume all steps have the same rise.

a) How high is the ninth step above the water?

b) Write a general sequence for this situation.

c) If there is a total of 16 steps, how high above the water is the deck of the ship?

3) Amelia has just graduated from college and is starting a new job.  Her salary is based solely on commission.  She hopes to earn $100.00 during her first week and then increase her salary by $20.00 per week. Amelia’s friend Marty earns a fixed salary of $600.00 per week.  
a) During which week does Amelia hope to earn $600.00?

b) Write a general sequence for Amelia’s weekly salary.

c) What is Amelia’s expected annual salary, assuming that she works all 52 weeks?

d) What is Amelia’s average weekly salary for the year?

e) Marty’s job allows for a 2 – week paid vacation during the first year. Which job would you rather have, Amelia’s or Marty’s. Explain.

4) A new football stadium is to be built in the shape of the Roman Colosseum. The bottom row will have 250 seats, and each row above the bottom row will have 40 seats more than the row in front of it.  The design calls for 30 rows.

a) How many seats will there be in row 30?

b) What will be the seating capacity of the new stadium?

5) A woman is building a log play house for her children, with the design at the left for part of the roof.  She has a 10 foot log in which she is going to cut the logs for the roof. Each roofing log is 8 inches longer than the previous one.
a) Write a general sequence for lengths of the logs in each row.
b) How should she cut a 10 foot log to get five logs needed?

6) How many segments of different lengths can be made by connecting pegs on a square geoboard of size n x n.  Use the dot paper to answer the following questions.

a) Complete the following table.

	Size of Square
	Total Number of Different Lengths by connecting the pegs

	1 x 1
	

	2 x 2
	

	3 x 3
	

	4 x 4
	

	5 x 5
	


b) Write a general sequence for the number of different lengths by connecting the pegs in a square of size n x n.

c) How many segments of different length in a square of size 10 x 10.

